At #75  "Jolving Logariﬁam.c”

Solve the following equations: Round $oludions 4o the +e,n'\'LLS ?le‘ce .
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3771 =81

8 =4

et ="

—14 4 3e¥ = 11
~6+1n3x =10
log(3x +1) =2
Inx—-In3 =4
ZIn3x =4
5¥M2 =4

In(x +2)* =6
473 =0.25
2t —5e* —3=0

log, 3 +log; x = log; 32

14 2logg 4x = 0
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log, x +log,(x —3) = 2

log,(x & 5) —lop,(x —2) =3
4In(2x +3) = 11

logx —log6 = Zlog4

2F =064

5% =25
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22,32 =81
23.logyx =5
24. 10g4x =3

25.log, 2x = log; 100
26.In{x+4) =1In7
27.log;(2x +1) =2
28.log:(x — 10) = 2
29.3% = 500

30.8% = 1000

3l.Inx =725
32.Inx = —0.5
33.2¢%5% = 45

34, 100e™%9% = 20

35.12(1 — 4%) = 18

36.25(1 —e') =12
37.log2x = 1.5

38.log, 2x = —0.65
39.%log2x +5=7
40, 4logs(x + 1) = 4.8
41.log, x + log, 3 =3

42.2log, x —lopg,(x —1) =1



